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Creating an Index on the Net Difference between Births and Deaths in PEI using Beyond 20/20

An index is a useful statistical tool to examine change over time using a base year to make the comparison.  In this exercise, you will create an index of the difference between births and deaths in PEI between 1972 and 2003.  The base year will be 1972.

The data for this exercise are in CANSIM Table 051-0004 - Components of population growth, Canada, provinces and territories, annual (Persons).  We’ll use the E-STAT interface to CANSIM to download the entire table in IVT format for working with the data in Beyond 20/20.

1. Open a Web browser and go to: http://library.acadiau.ca/
Under the FIND categories, select “stats and data”

Next select Aggregate Data (easy-to-use tables) and then E-STAT
2. Once in E-STAT, select from the left-hand menu, Search CANSIM
Click the radio button for “Table number” and Continue.

Enter 510004 and then Continue.

3. Scroll to the bottom of the Web page for Table 051-0004 and click on the link, download the entire table.
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If prompted to open or save this file, select Open.  You should now see Table 051-0004 displayed in the Beyond 20/20 browser. If you don’t see this, raise your hand and an instructor will help you.

Figure 1: Table 051-0004 Restructured as a Time Series

4. Click on the “Date” tile to activate it and then while holding down the left mouse button on this tile, drag and drop it on the tile “Components”.  The table should now look like the one in Figure 1.

5. Next select just PEI by clicking on the “Geography” tile to activate it.  

Click on the “Display active dimensions” tool (which is left of the Chart tool).  

Click on PEI to highlight it.  From the menu, select Item / Show.  Minimize this Active dimension window.

6. Click on the “Births” tile and while holding down the left mouse button move to the right column to highlight “Deaths”, too.

7. From the menu, select Item / Show.

Next from the menu select View / Worksheet.  In the dialogue box, click OK
Notice that the heading at the top of the browser has changed to [Worksheet: Table 051-0004 …]

8. Ensure that the “Components” tile is active and then from the menu, select Item / Define group.

In the dialogue box, enter “Netchange” for Group Code, 

Click the radio button for “Computed – User-defined formula”.
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Click on “1” in the right-hand list (this is the Births column) and then the << button.

In the formula text box, [1] will be shown.  Enter a minus sign after this.  Then click on “2” and the << button. Then click OK.

Answer “Yes” to the prompt to calculate now and OK after is it done.

You will now see a new column containing the difference between births and deaths annually.

9. Using 1972 as the base year, let’s calculate an index of net life-cycle change.  From the menu, select Item / Define group. 

In the dialogue box, enter the group code “Net Life Cycle”, click the radio button for “Computed – User-defined formula.

Select “Netchange” and move it to the formula text box and complete the formula so that it appears as:  [Netchange]/1028*100.  

Click OK and Yes and OK.

Select the “Net Life Cycle” column and from the menu, select View / Decimals / 1.

How many years is the Life Cycle index greater than 100?

This index allows comparing changes based on 1972.  For example, 1979 was 5.7 percent higher than 1972 while 1999 is 58.1 percent lower than 1972.

Use the Beyond 20/20 Chart tool and display the index.

If time permits, repeat this exercise using one of the other Atlantic provinces.  The original table is available by selecting from the menu, Windows / Table 051-0004.  Once you have the index completed using the same base year, compare the two provinces.
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